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No BENS TR RIS REA 39%—131 £ L—134 £ L—13]
BIEE BRERR) BIEE BRERR) BIEE BRERR)

1 JKY R BEEX JIF R3.10. 01 BRI (L1.6) BRHEET (L1.6) BRI (L1.6)
2 |aX B4 EEX LE5F R3.10. 04 BRHEET (<3.0) BREET (L3.1) BRHEE9 (<£6.9)
3 HEY) B4 [RETX L5F R3.10. 04 RHEY (<£2.8) RHEY (<£3.3) RHEEd (<£3.9)
4 |HrA4E uul [RETX E5F R3.10.04 RHEY (L1.6) RHEY (L1.7) RHEY (L1.6)
5 |2amH EES FAX E5F R3.10. 04 BmEEY (3.0 BmHEEY (<£3.6) BEEY (L3.6)
6 |AX B4 [RETX JtEH R3.10.04 RHEET (<2.7) RHEET (<£2.9) RHEd (<£3.5)
7 [2X B4E BEEX EiF R3.10.04 RHEET (<L1.8) RHEET (<£2.3) RHET (<£2.4)
8 |nvkrD R EEX EiF R3.10.04 BRHEET (<£2.3) BREET (L2.7) BREET (L2.4)
9 [HY EES BEEX dtiEE R3.10. 04 BREEY (L1.9) BREEY (L2.3) BREEY (L2.2)
10 |2 394 B4 EEX tiEE R3.10. 04 REEd (2.4 REEd (2.7 REEd (2.7
11 |239H EES BEEX /M R3.10.04 REEd (<2.7) RHEY (<£3.3) RHEY (<£3.0)
12 [AX EES EEX FKN R3.10. 04 BREEY (L2.4) BmEEY (3.0 BREEY (£6.0)
13 [ X B4 BEEX FNX R3.10.04 RHEET (<L2.6) RHEET (<2.7) RHEd (<£3.0)
14 |2 X B4 BEEX /MMUEA R3.10. 07 RHEET (<2.7) RHEET (<£2.3) RHEY (<£2.9)
15 [F947)L—Y B4 EEX /MMUEA R3.10.07 BRHEET (L2.5) BREET (<£2.9) BRHEET (L8.1)
16 [ X B4 EBEX IUTF R3.10.07 BT (L2.6) B9 (L2.8) BREET (8.7
17 | X =k BEEX IUTF R3.10. 07 REET (<2.4) RHEY (<£2.8) RHEY (<£5.8)
18 |#97 i 5% BEEX IUTF R3.10.07 RHET (<£2.6) RHET (<L2.6) RHEY (<£2.9)
19 |[F—<> MR EEBX IUTF R3.10. 07 BmEEY (£2.3) BmEEY (L2.7) BREEY (3.4
20 |FDA47)IL—Y B4 EEX IUT R3.10.07 RHEd (L1.5) RHEd (L1.7) BHEY (£1.9)
21 | <A uul FEETX Gt EE R3.10.07 RHEY (L3.1) RHEY (<£3.3) RHEY (<£38.4)
22 AKX B4 [FETX {EMR R3.10. 07 BREEY (L2.6) BRHEEY (3.0 BREEY (L£2.8)
23 koAHS S & ih RETX B R3.10. 07 RHEET (L2.6) RHET (<£2.8) RHEET (<£3.4)
24 |FR Eaith [RETX =& R3.10.07 RHEET (L1.7) RHET (L1.5) RHEET (L1.8)
25 |2X EES EERX /It R3.10. 07 BHET (L2.0) BHET (L2.6) BRHET (L38.4)
26 ¥4 TNL—Y EES EBERX /It R3.10. 07 BmEEY (1.7 BmEEY (2.1 BREEY (L1.8)
27 [ X B4 BEEX /Mt R3.10.07 RHEd (<6.9) RHET (<6.4) BHEY (L7.2)
28 [ X B4 EEX WUT R3.10. 07 RHEY (L1.6) RHEY (£2.3) RHEY (<£38.2)
29 |SavH B4 BEEX WUT R3.10.07 BREET (L2.4) BREET (L2.0) BREET (L2.1)




AIERER (Ba/ke)

No REYA REFE 238 T REE Io%—131 i L—134 > L—13]7
AEME (RHERF) AEME (RHERF) AEME (RHERF)

I EEDE B4 [RETX KZ&E R3.10. 08 BEEd (<2.8) BHEEd (<8.0) BEEd (<2.8)
NI EEDY:) B4E [RETX K& R3. 10. 08 BrEEd (<2.7) BEEd (<3.4) BEEd (<3.4)
32 |aX B4E FERTX K& R3. 10. 08 Y (<3.0) Y (<3.1) Y (<4.9)
33 |2X B4E [RETX K% R3.10. 08 RHEd (<2.4) RHEd (<2.9) RHEY (<4.8)
34 12X B4 EEX EiRE R3. 10. 08 BEEd (<2.6) BEEd (<8.0) ‘Y (<13.0)
3% |94 B4E EEX EiFE R3. 10. 08 ‘rttd (<5.0) ‘mttd (<5.3) Bmttd (<6.1)
36 [ X+ F=ih BEEX FRE R3. 10. 08 RHtEd (<2.6) RHtEd (<2.6) Y (<2.4)
37 |2 X B4 EEX EiRE R3.10. 08 RHEd (<2.4) RHEd (<3.2) Y (<3.0)
38 |FIOATIL—=Y B4E [RETX K& R3. 10. 08 BrEtEd (<2.7) BrEtEd (<2.4) B9 (<4.5)
39 |2aX B4E RETX K% R3. 10. 08 Y (<2.3) RHtEd (<2.9) Y (<4.9)
40 |2X B4E [RETX B KH R3.10. 11 RHEd (<1.5) RHEd (<1.4) RHEd (<1.9)
a1 12X B4 [RETX 1 KH R3.10. 11 BrEEd (<1.9) BEEd (<2.3) BEEd (<2.1)
42 | x94T =Y B4E [FERTX FAXH R3.10. 11 ‘rttd (<1.8) ‘rttd (<1.8) ‘s (<2.0)
43 | boAHY F=ih FRTX Jt &% R3.10.14 s (<1.7) g (<1.8) Y (<1.9)
4 [FoA4TN=Y B4E [RETX SR R3.10.14 R (<2.2) BT (<2.5) BT (<2.6)
45 |FI9A4ATIN—Y B4E RETX % R3.10.14 BrEtEd (<2.8) BrEEd (<2.7) BrEtEd (<4.2)
46 (77 E B4E BESX T R3.10.14 RHtEd (<5.6) RHtEd (<1.7) Y (<8.0)
47 12X B4E BESX /hith R3.10.14 RHEd (<2.2) RHEd (<2.6) RHEd (<4.7)
48 12X B4E BESX /hith R3.10.14 BrEtEd (<1.8) BEEd (<2.0) BrEEd (<2.1)
49 12X B4E BB X /Mith R3.10.14 ‘rEtd (<2.0) ‘rttd (<17 Bt d (<5.5)
50 |2X g&ih BESX /hith R3.10.14 Y (<1.9) T (<2.0) Y (<2.0)
I ES B4E BESX /hith R3.10.14 BT (<2.0) T (<2.3) RHEEd (<2.9)
52 |F¥IATIN—=Y B4E EEERX /it R3.10.14 BrEtd (<1.8) BrEEd (2.1 BEEd (8.7
53 |=hY B&E BESX /Mith R3.10.14 Y (<3.0) Y (<2.9) RHtEd (<3.5)
% |FYzhy B4 BESX /hith R3.10.14 RHEd (<1.8) RHEd (<2.1) RHEY (<2.4)
5, 12X B4E BEEX /hith R3.10.14 BEEd (<2.5) BEEd (<2.5) BrEEd (<17.9)
56 |2 X B4E BB X /Mith R3.10.14 Brttd (<4.6) ‘mttd (<5.2) ‘mEtd (5.1
5T [¥2A4T)N—=Y BE BESX /hith R3.10.14 BT (<2.0) R (<2.2) R (<2.2)
98 [¥FOATN—Y B4 BEX S R3.10.14 RHEd (<6.5) RHEEd (<6.9) 9 (<6.7)
59 [2X B4E BEERX KK R3.10.14 BrEtEd (<2.3) BrEtEd (<2.9) BrEtEd (<2.9)
60 [2X BE BESX FKH R3.10.14 Y (<2.4) Y (<2.5) BHEEd (<38.6)
61 |2V BAE [RETX 43k R3.10.15 RHEd (<6.1) RHEd (<8.2) BEEd (<17.3)
62 |2 X B4E [RETX KR R3.10.15 BEEd (<2.3) BrEEd (<2.7) BrEEd (<2.2)
63 |AARZR B4E BEERX 15 R3.10. 15 ‘meeEd (<17 ‘s (<2.2) ‘s (<2.3)
64 |2 X B4E BESX i R3.10.15 BT (<2.0) R (<2.1) T (<2.3)
65 |#hT F=ih EEX EiRE R3.10. 15 BT (<2.0) R (<2.4) REEd (<2.1)
66 [HILFT B4E BSX JIF R3.10. 15 ‘rttd (<1.5) ‘rEtd (<1.8) BrEtd (<3.0)
67 | hM4E F&ih [RETX ZR¥P R3.10.18 RHEd (<1.8) T (<2.2) RHEY (<2.3)
68 |1 X B4E [RETX RE R3.10.18 RHEd (<1.8) BT (<2.0) BT (<5.7)
69 [ShY B4E BEX S R3. 10. 21 BEEd (<2.0) BrEtEd (<1.9) BrEEd (<8.2)
70 [2X B4E BERX Sk R3. 10. 21 RHEd (<2.2) RHtEd (<1.9) Y (<6.2)
|4 =E il BEX XK R3.10. 21 T (<2.9) T (<8.2) R (<2.8)
12 b4 %E F=ih BEEX XA R3. 10. 21 R (<2.4) BT (<2.8) RHEEd (<2.8)
713 [2X B4E BEX KK R3. 10. 21 BrEtEd (<2.2) BrEtEd (<2.6) BrEtd (<3.0)




AIERER (Ba/ke)

No REYA REFE 238 T REE Io%—131 i L—134 > L—13]7
AEME (RHERF) AEME (RHERF) AEME (RHERF)

M | x4 =y B4E BEX XK R3.10. 21 BEEd (<2.6) BEEd (<2.9) BEEd (<2.3)
B |b9HSS =ih BEEX XA R3. 10. 21 BEEd (<2.5) BEEd (<2.8) BrEEd (<2.9)
6 | F914I)L—Y B4E BEEX XK R3. 10. 21 Y (<1.8) RHtEd (<1.6) Bretd (<1.8)
77 12X B4E [RETX REF R3.10. 21 RHEd (<2.7) RHEd (<2.7) ‘Y (<171.1)
8 (AU B4E RETX % R3. 10. 21 BEEd (<1.8) BEEd (<1.9) B9 (<8.2)
9 |®940L—=Y B4E [RETX % R3. 10. 21 BrEtEd (<2.3) Brttd (<2.8) ‘mttd (<3.9)
80 |2X B4E BESX T R3. 10. 21 Y (<2.1) RHtEd (<2.2) Y (<3.4)
81 [¥OA4T)IL—Y B4E BEX T R3.10. 21 RHEd (<2.4) RHET (<2.3) T (<2.7)
82 |[YhAE =ih [RETX JL¥TH R3. 10. 22 BrEtd (<2.3) BrEtEd (<2.7) BEtEd (<2.6)
83 |2X B4E [RETX dL¥iH R3.10. 22 RHtEd (<2.4) R (<2.2) Y (<9.2)
84 |V EDY =it [FETX Jt =% R3.10.22 RHEd (<1.9) RHEd (<2.4) RHEY (<2.8)
85 |2X B4E BEX JIF R3.10. 22 BrEEd (<1.9) BEEd (<1.8) BEEd (<8.4)
86 |[HYRA=E =ih BEERX 1EE R3. 10. 22 BrEtEd (<2.4) BrEtEd (<2.4) ‘s (<2.9)
87T |[HYRA=E =i BEESX FKH R3.10. 22 T (<2.4) Y (<2.8) T (<2.7)
88 |[NRAE =i BEX ¥R R3.10. 22 REEd (<1.8) REEd (<1.9) REEd (<1.9)
89 [2X B4E EEX EiRE R3. 10. 22 BrEtEd (<2.2) BrEtEd (<2.2) BrEtd (<8.2)
90 |2X B4E BEEX tigE R3.10. 22 RHtEd (<1.8) RHtEd (<1.8) RHtEd (<1.6)
91 |2 X B4E BEX tiEE R3.10.22 RHEd (<1.6) RHEd (<1.9) RHEd (<17
92 |2X B4E BEX tiEE R3.10. 22 BrEtEd (<2.4) BEEd (<2.7) BEEd (<2.5)
8 |HYRAE =ih BEESX tigE R3. 10. 22 BrEtd (<2.7) BrEtd (<2.9) BrEtEd (<2.9)
94 |YYRAE i BEEX XK R3.10.28 RHEY (<2.4) T (<2.8) T (<2.6)
% [F2PVY i BEX XA R3.10. 28 g9 (<5.5) R d (<6.5) Y (1.7
9% [2X B4E [RETX Jb &% R3. 10. 28 BrEtd (<1.8) BrEtd (<1.2) BEEd (8.7
97 [ARF ¥ =ih RETX JbigE R3.10. 28 RHtEd (<1.8) RHtEd (<2.2) Y (<2.1)
98 |1 E il REX FFRE R3.10. 28 RHEd (<1.8) RHEd (<1.8) RHEd (<17
9 |2 X B4E ESX FAFrEaEA R3.10.28 BEEd (<2.1 BrEEd (<2.9) BEEd (<2.5)
100 [2X B4E BEER XiEFHEKE R3. 10. 28 BrEeEd (<2.1) ‘rEtd (<2.3) BrEtEd (<2.4)
101 |2 X BE [RETX SFNFFHEE R3.10. 29 R (<2.7) Y (<8. 1) R (<4.3)
102 _|/n\¥v kY B4 [RETX &i5 R3.10. 29 BT (<2.5) BT (<2.9) R (<2.6)
103 [¥DOAINL—=Y B4E [RETX KNFAAR R3. 10. 29 BrEtd (<2.6) BrEtEd (<8.0) BrEtEd (8.1
104 | F914T)L—=Y BAE RETX tERFITE R3.10. 29 RHtEd (<2.6) Y (<2.9) RHEd (<3.1)
105 |2 X B4E FRTX {EHRFHEER R3.10. 29 RHEY (<2.3) RHEY (<2.4) RHEY (<2.3)
106 [¥OAINL—Y B4E ESX AIRFHHK R3. 10. 29 BrEEd (<2.7) B9 (<2.6) BEEd (8.1
107 | E =ih BEEX AIFRFRR R3. 10. 29 BrEtd (<2.6) BrEtd (<8.0) BrEtd (<3.0)
108 |2 X BE BEX tEFFHE R3.10. 29 R (<2.7) T (<3.6) 9 (<3.5)
109 (B> B4E BEEX RFEH R3.10. 29 BT (<2.0) R (<2.4) RHEEd (<2.9)
110 [2X B4E [RETX HhZEF A R3. 11. 01 ‘retd (<17 BrEEd (<2.1) BrEtd (<2.8)
111 [2X B&E [RETIX /it == #7111 R3. 11. 01 RHEEd (<1.9) T (<2.2) Y (<1.9)
12 |1=H> B4E FEX ESFEFMT R3. 11. 01 g9 (<1.5) RHEEd (<1.9) RHEEd (<1.6)
13 |YRIF =ih FERTR JtERFEL R3. 11. 01 BrEEd (<2.1) BrEEd (<2.2) BrEEd (<2.2)
"a |45 =ih [RETX JIIFFL5] R3. 11. 01 RHEd (<2.2) Y (<2.4) RHEd (<2.9)
115 |12 hY B4E [RETX EItlA &= Al R3. 11. 01 R (<2.1) R (<2.1) R (<2.0)
16 [¥2h> B4 [RETX SFEHMH R3. 11. 01 R (<2.1) RHEEd (<1.9) REEd (<2.1)
17 [z3d< =ih [RETX b & %55 R 6 R3.11.04 BretEd (<17 BrEtEd (<2.2) BrEtEd (<2.0




AIERER (Ba/ke)

No 2ENL HIEFE RIS 2R 9% 131 oo L—134 5 L—13]
AEE (RERR AEE (RERR) AEE (RERR
118 [ X B4 [RETX JLIRFFE R3.11.04 BmHed (L£2.8) BHed (£2.2) BHed (L11.9)
119 | E i [RETX 2R H R3.10. 15 BHEd (£2.6) BHEd (<3.0) BHEd (£2.5)
120 [y M4 E FZith [RETR FHNFHEE R3.10. 26 gEHEd (<2.3) gEHEd (<2.3) EHEd (<2.3)
121 |2 X B4 BEEX BEE R3.11.04 e d (<2.8) e d (<3.0) e d (<4.4)
122 |12 X B4 BESX IUT R3.11.04 BHed (L2.6) BHed (£2.8) BHEd (<4.2)
123 [ X B4 BESX IWWTFFh /i R3.11. 04 BEEY (2.4 BREEY (L2.6) BEEY (2.4
124 |2 X B4 BEX £XFHIF R3.11. 04 EHEd (<2.9) FEHEd (<3.1) BHEd (<24.3)
125 | YA E gEih EESX FHFEAR R3.11.04 e d (<1.7) g (<1.8) BEEY (L2.7)
126 | MM E FZih EEX R% R3.11.04 BEEY (1.4 BEEY (1.5 BREEY (L1.8)
127 |2 X B4 BEEX [k R3.11.05 gEHEd (<2.2) gEHeEd (<2.7) EHEd (<2.5)
128 [2X BE | BEX SHTEE R3.11.05 BHEET (<1.0) BHET (<1.6) BHET (<2.5)
129 [Xo4o0n—v BE | BEX IEH R3.11.05 BT (<11 BT (<2.5) BHET (<2.0)
130 [av=x491% FEith EEX E R3.11.05 BHEd (£2.2) BHEd (<3.1) BHed (<3.5)
131 |2 X BE EEX mEEFHRX R3.11.05 FEHEd (<1.7) FEHEd (<1.7) T (<4.0)
132 [ k4 E gEih BEESX KiE R3.11.05 Y (<2.7) T (<2.6) EHEd (<3.3)
133 |# 7 FZih BEEX /It R3.11.05 BEEY (L2.3) BREEY (L2.6) BEEY (2.9
134 |24H4 Fith EBRX dtiEE R3.11.05 EHEd (<2.6) EHEd (<3.4) EHEd (<3.5)
135 |YILLSHFE gEih BEERX [E715 R3.11.05 e d (<2.8) e d (<3.0) e d (<2.7)
136 [hu> BE | BEIX EEHRTE R3.11.05 BREET (<3.0) BHES (<3.5) BEET (<44
137 [V M E Fith [RETX {EHRF5EG R3.11.05 BHEd (£2.4) BHEd (<3.2) BHEd (£2.2)
138 [ M E FZith [FETX #ZE R3.10. 30 RHEY (<2.4) RHE (<2.7) RHEY (<2.4)
139 |2 X B4 FEX SF&HH R3.11.05 EHEd (<2.5) EHEd (<2.8) EHEd (<3.6)
140 | M E FZih EEX SF&HH R3.11.03 BEEY (2.0 BEEY (2.0 BEEY (2.4
141 | YA E FZih [FETRX dbiEE R3.11.03 EHEd (<2.5) EHEd (<2.8) EHEd (<2.6)
142 |7 R/\FF =i [RETX JbiEEF X R3.11.05 e d (£2.8) e d (<3.1) e d (<3.0)
143 2% BE | BBX LEW R3.11.05 BEET (<1.0) BREET (<2.0) BEET (<2.0)
144 |2 X B4 EEX E R3.11.05 BHed (<1.7) BHEd (<1.9) BHEd (<3.7)
145 [ShHY B4 EERX 5% R3.11.05 T (<1.6) T (<2.0) T (<1.9)
146 |2 X BE ESX /NEH R3.11.05 FEHEd (<1.9) EHEd (<2.6) EHEd (<2.1)
B E eI BE | BEX mER R3. 11,05 BT (<1.4) BRIEET (<1.6) BRIEET (<1.9)
148 | HYSRAE Fith EEX X8 R3.11.08 EHEd (<3.2) EHEd (<3.2) g (<3.5)
129 (3397 5E | BEX 25 R3.11.08 BHET (<3.2) BHET (<2.1) BHET (<3.4)
150 [ho> BE | BBX AAE R3.11.08 BEET (<2.1) BET (<2.0) BES (<3.0)
151 |2X BE | &K #E R3. 11,08 BT (<2.8) BREET (<3.2) BT (<1.4)
152 |FoH5 o494 & ih [FETX FW R3.11. 11 T (<2.8) T (<2.9) T (<3.0)
163 [YHR=5 FEih [FETX FH R3.11. 11 EHEd (<3.1) EHEd (<3.5) EHEd (<3.2)
154 (HY > B4 [RETX (R R3.11. 11 BHEd (£2.6) BHEd (<3.0) BHEd (<3.2)
155 |AU > B4 [FETR KR R3. 11. 11 T (<3.2) 9 (<3.6) RHEY (<3.7)
156 _|AY > B4 [RETR KR R3.11. 11 EHEd (<2.8) FEHEd (<3.1) T (<4.2)
157 [ X B4 BEESX JIF R3.11. 11 BHed (£2.4) BHEd (<3.0) BHed (£2.5)
158 |2 X B4 EEX BEER R3. 11. 11 EHEd (<2.8) gEHEd (<2.7) EHEd (<4.2)
159 [2 X B4 ESX T R3.11. 11 T (<1.9) T (<1.9) T (<2.4)
160 2% BE | BATX 43 R3_11. 11 RHET (<2.5) RHET (<3.2) ST (<52
161 | ¥4 T)IL—Y B4 [RETX % H R3. 11. 11 BEEY (2.1 BEEY (3.0 BEEY (L2.3)




AIERER (Ba/ke)

No 2ENL HIEFE RIS 2R 9% 131 oo L—134 5 L—13]
AEE (RERR AEE (RERR) AEE (RERR
162 [FFrAE Bt | BARX Z% R3.11.08 BHET (<1.5) BHET (<11 BHET (<2.0)
163 |2 X BE | BEIX &5 R3_11. 11 BREET (<2.8) BT (<2.4) BREET (<1.2)
164 |2 X+ FZith [FETX R% R3. 11. 11 FEHEd (<2.9) gEHEd (<3.1) gEHEd (<3.1)
165 [2 X B4 EEX E% R3.11. 11 e d (<1.4) e d (<1.6) e d (<1.6)
166 |2 X BE BEERX dtiEE R3.11. 11 BHed (£2.2) BHed (£2.2) BHed (L2.6)
167 |2X BE | BBX LEH R3_11. 11 BIBET (<2.5) BRIBET (<2.4) BREET (<2.1)
168 | HYSAE Fith EESX /MNEH R3. 11. 11 EHEd (<2.2) FEHEd (<2.1) FEHEd (<2.3)
169 (LA R gEih BESX JIF R3.11. 11 e d (<2.4) e d (<2.6) EHEd (<2.1)
170 | HYy<A4E FZih [RETX /i R3.10. 30 BEEY (£2.8) BREEY (L2.5) BEEY (<3.8)
1M _[F24T)L—Y B4 [RETX 1515 R3.11.12 gEHeEd (<1.1) EHEd (<8.8) gEHeEd (<1.7)
172 | FoH5 o494 gEih [RETX 151% R3.11.12 e d (£2.3) e d (<3.2) e d (<3.3)
173 2% BE | RETX ;3 R3.11. 12 BET (<2.0) BRET (<3.6) BHET (<31
174 [4F3 % EEX FH R3.11.12 BHEd (£1.3) BHed (£1.3) BHEd (£1.5)
175 |2 X B4 ESX ERR R3.11.12 FEHEd (<2.3) ZEHEd (<2.5) T (<2.9)
176 |54 54 B | BEER EER R311.12 RHET (<1.9) RHET (<2.7) RHET (<2.7)
177 [/ Y75 FZih [RETX £ R3.11.12 BEEY (<3.3) BEEY (3.9 BREEY (£2.8)
178 |2 A+ Fith FERX & R3.11.12 gEHEd (<2.7) gEHEd (<2.9) gEHEd (<3.7)
179 [ k4 E =i [RETX dbiEE R3.11.12 e d (<1.4) e d (<1.8) e d (<1.9)
180 [wAHR=5 FEih BEERX JtiF R3.11.12 BHed (£1.9) BHed (£2.5) BHed (£2.8)
181 |2 X+ Fith EEX EiIF R3.11.12 BHed (£2.3) BHEd (£2.5) BHEd (£2.6)
182 [9=——LAZR B | BEX &M R3_11.12 ZHET (<3.0 ZHET (<3.9) ZHET (<3.5)
183 (A5 F BE [FETX FER R3.11.15 EHEd (<2.5) EHEd (<2.4) FEHEd (<2.1)
184 |1X BE | BETX 25 R3.11. 15 BT (<1.9) BT (<2.1) BT (<71.5)
185 |2 X B4 BEX XKFE R3.11.18 EHEd (<2.3) EHEd (<2.3) EHEd (<2.9)
186 [1 X B4 EESX §E R3.11.18 e d (£2.3) e d (<3.0) g (<3.6)
187 2% BE | BBX K R3.11.18 BREET (<1.8) BEET (<1.6) BEET (<3.2)
188 [HYU > B4 [RETX 1R R3.11.18 BHEd (<2.7) BHEd (<£3.5) BHed (<3.8)
189 | M E & ih [FETX KR R3.11. 11 T (<2.6) T (<2.8) T (<3.2)
190 [T U FEih [RETRX JIIF R3.11.18 EHEd (<2.9) EHEd (<2.9) EHEd (<2.7)
191 |2 BE | BEX mEw R3.11.18 BREET (<3.1) BRBET (<2.9) BRIEET (<4.2)
192 [(HD Fith [RETX 5KH R3.11.18 FEHEd (<2.3) FEHEd (<3.1) g (<3.6)
193 [ X B4 [FETX IITF R3.11.18 e d (£2.8) e d (<2.7) g (<6.6)
194 | E i [RETR 43 R3.10.30 BHed (1.7) BHed (<9.7) BHEd (£2.0)
195 |LA R FZith [RETX % H R3.11.18 BHed (<3.2) BHEd (<£3.5) BHed (<3.7)
196 [=> oo B | BEER Z% R3.11.18 RHET (<6.2) ST (<6.6) RHET (<6.4)
197 | b E FEih EEX E% R3.11.18 EHEd (<3.2) EHEd (<3.4) EHEd (<3.2)
198 [ hAE FEith EBRX dtiEE R3.11.18 BEEY (1.4 BEEY (K1.6) BEEd K1.D)
199 |AU > B4 ESRX tEH R3.11.18 T (<2.8) T (<3.4) RHEY (<3.2)
200 |2 X B4 BEERX [E715 R3.11.18 EHEd (<2.2) EHEd (<3.0) T (<2.6)
201 |2 X B4 ESX /NEH R3.11.19 BHed (£1.9) BHEd (£2.0) BHEd (£1.9)
202 [2HY B4 BESX JIF R3.11.19 EHEd (<2.0) EHEd (<2.6) EHEd (<2.8)
203 | R E i BEERX /It R3.11.19 T (<1.9) T (<2.0) EHEd (<2.1)
204 |2 X B4 BEERX 5% R3.11.19 EHEd (<2.8) EHEd (<2.8) FEHEd (<3.1)
205 LA R FZih [RETX 1515 R3.11.19 BEEY (L2.3) BEEd (<3.6) BEEY (<3.2)
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AEE (RERR AEE (RERR) AEE (RERR
206 |4 )1L— B4 [RETX ERE R3.11.19 BHed (L2.4) BHed (L2.7) BmHed (3.1
207 |2X BE | B &8 R3.11.19 BREET (<2.4) BES (<31 BEET (<2.6)
208 [ X B4% [RETX ;T3 R3.11.19 gEHEd (<2.2) EHEd (<2.6) EHEd (<2.3)
200 [B794 B | BEARX 2% R3.11.19 BHET (<2.6) BHET (<31 BHET (<3.4)
210 |2 H Y B4 FETR BS R3.11.19 BHed (L2.1) BHed (£1.9) BHed (L2.1)
211 _|2X BE | BETK 4% R3.11.19 BRBET (<2.7) BIBET (<2.5) BRIEET (<5.2)
212 [ X B4 [RETX A XH R3.11.19 FEHEd (<2.6) EHEd (<3.2) FEHEd (<4.1)
213 | E gEih BESX JIF R3.11.19 e d (<1.7) e d (<1.7) EHEd (<2.0)
214 (94 7)L— B4 EEX F% R3.11.19 BEEY (L1.8) BREEY (K1.6) BREEY (L2.2)
215 (AU B4 EBRX LEE R3.11.25 gEHeEd (<1.7) FEHEd (<1.6) EHEd (<1.8)
216 |2 X B4 ESX {EAR R3.11.25 e d (<2.4) e d (<3.4) g (<3.5)
217 |2X BE | BBX #2 R3.11. 25 BET (<6.2) BET (<71.0) BET (<11
218 | W HAEAHA FEith RETR 515 R3.11.25 BHEd (<2.7) BHEd (£2.2) BHEd (<2.7)
219 (AU B4 [RETX 43k R3.11.25 FEHEd (<1.8) FEHEd (<1.7) BmEEd (K4.1)
220 |2 X B4 [RETX 43k R3.11.25 EHEd (<3.1) EHEd (<3.3) BHed (<12.2)
221 |2Hh+ FZih EERX BIF R3.11.25 BEEY (2.9 BEEY (2.9 BREEY (2.7
222 (0% Fith EBRX jKH R3.11.25 FEHEd (<3.1) EHEd (<3.6) EHEd (<3.4)
223 |2 X B4 BEESX TE R3.11.25 e d (<2.9) e d (£2.3) e d (<9.9)
204 [Xo A IN—Y BE | BEX 25 R3.11.25 RS (<5.0) BEET (<11 BET (<6.0)
225 [ X B4 EEX F% R3.11.25 BHEd (<2.1) BHEd (<2.7) BHEd (<3.1)
226 |2 X B4 [FETX EILEF R3.11. 26 T (<1.8) T (<2.0) T (<3.7)
221 [(hU>Y B4 FETR BS R3.11.26 EHEd (<2.6) EHEd (<3.0) EHEd (<4.3)
228 |2 X B4 [RETX EathAR R3.11.26 BREEY (L1.8) BEEY (2.0 BEEd (5.1
229 [ X B4 FEX 58 R3.11. 26 EHEd (<1.9) EHEd (<1.8) FEHEd (<1.9)
230 [ X B4 BEX /Mt R3.11. 26 e d (£2.0) e d (<2.1) e d (<2.7)
231 |2X BE | BBX thaT R3.11.26 BET (<1.5) BEET (<11 BET (<11
232 |hJ Fith BEBRX /It R3.11. 26 BHed (<1.7) BHEd (£1.6) BHEd (£2.0)
233 [AhU257— FZith BESX JIF R3.11.26 T (<2.6) T (<3.2) RHEY (<2.9)
234 |2X BE | BEIX LEH R3.11.26 ZHET (<2.3) SHET (<2.5) ST (<4.2)
235 [h5oF BE | BEK EER R3. 11,26 BT (<3.0) BRIEET (<3.1) BREET (<2.9)
236 [FF=+ Fith [FETX #E R3.11. 26 FEHEd (<2.1) FEHEd (<2.5) e d (£2.5)
237 [E—v =it [RETX 4% R3.11. 26 e d (<2.7) e d (<3.3) e d (£2.3)
238 [ HY B4 JRETX 5kH R3.11.26 BHEd (L2.1) BHEd (£1.9) BHEd (£2.3)
239 | R E FZith [RETX ;T3 R3.10. 15 BHEd (<1.9) BHEd (£2.4) BHed (£2.5)
200 [FoH5 284 & ih EEX F% R3.11. 26 T (<1.8) T (<2.5) BmEed (L2.5)
241 | X B4 BESRX 4% R3.11.26 EHEd (<2.7) FEHEd (<2.4) BHed (<14.5)
22 [FoH5 094 FEith EEX 58 R3.11. 26 BHEd (<1.9) BHEd (£2.3) BHEd (L2.7)
243 [ X B4 [RETIX /]MIIET R3.11.29 T (<2.3) T (<2.6) RHEY (<2.5)
244 |2X BE | BOIX E£8& R3.11.29 SHET (<31 SHET (<21 SHET (<31
245 [FoH5 94 i [RETRX /i R3.11.29 BHed (£2.2) BHed (£2.2) BHed (£2.8)
246 [ X B4 BEBRX /It R3.12.02 gEHeEd (<2.7) EHEd (<2.8) EHEd (<2.6)
2471 [FoH52094 gEih ESRX jkH R3.12.02 T (<7.2) 9 (<7.5) T (<8.4)
218 |2X 5% | BBX @E4TH R3.12.02 ZHET (<2.9) RHET (<3.2) ST (<54
249 [ X B4 [RETEX #L R3.12.02 BEEY (L2.5) BEEY (£2.8) BEEd (1.5
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250 |2 X B4 [RETX FIRT4T B R3.12.02 BHed (L2.6) BmHed (3.1 BmHed (<3.6)
251 [ M E i [RETX FEHTAT B R3.11.05 BHEd (£2.5) BHEd (<3.1) BHed (<£3.5)
252 [ X B4% JRETX {HIL R3.12.02 EHEd (<3.0) gEHEd (<2.3) EHEd (<5.3)
263 |2 X B4 [RETX FIRT4T B R3.12.02 e d (<2.4) e d (<2.7) g (<3.6)
254 |2 HhY B4 JRETX f8L R3.12.02 BHed (£2.3) BHed (£2.8) BHed (£2.5)
255 [XoA IN—y BE | RETK @ R3.12.02 BRIBET (<2.2) BRIBET (<2.1) BIBET (<2.5)
256 |H D Fith BESRX L R3.12.02 EHEd (<2.2) EHEd (<2.6) FEHEd (<2.8)
257 |WARIF gEih ESX FirdT B R3.12.02 e d (£2.3) e d (<2.4) EHEd (<2.4)
258 [FyH5 94 FZih ESX jkH R3.12.02 BEEY (3.9 BREEY (<4.0) BREEY (<4.0)
259 [ X B4 EBX /MNEH R3.12.02 gEHEd (<2.3) gEHEd (<2.0) EHEd (<5.0)
260 |2 X B4 EEX LER R3.12.02 e d (£2.9) e d (<3.3) g (<5.8)
261 |2X BE | BBX L= R3.12.02 BET (<2.0) BT (<2.4) BHET (<31
262 [ X B4 EERX LtER R3.12.02 BHEd (<2.7) BHEd (<3.1) BHEd (<1.1)
263 [ X B4 EERX LEF R3.12.02 FEHEd (<2.7) FEHEd (<3.1) 9 (<5.0)
264 | KA E gEih BEEX tHE R3.12.03 EHEd (<1.4) FEHEd (<1.9) EHEd (<2.5)
265 |\ bR FZih EERX AR R3.12.03 BEEY 1. BEEY (1.4 BREEY (L1.6)
266 [ X B4 BEBRX /It R3.12.03 EHEd (<2.4) EHEd (<2.8) EHEd (<2.8)
260 [(h5iF B4 [FHTX GtEH R3.12. 03 e d (<2.7) e d (<3.5) e d (<3.9)
268 |2X BE | BEIX L&D R3.12.03 BREET (<2.3) BET (<3.3) BES (<5.0)
269 |¥U4F Fith [RETX JbIR R3.11.30 BHEd (£2.2) BHEd (<3.6) BHEd (<3.3)
210 |v—a > FZith [RETX JbIR R3.11.30 T (<2.6) T (<2.8) T (<3.2)
211 |2hY B4 [RETX Jb[R R3.12.03 EHEd (<2.4) EHEd (<2.7) EHEd (<2.6)
272 | X B4 BEEX THE R3.12.03 BREEY 1D BEEY (1.4 BEEY (2.0
213 [ X B4 EEX IE R3.12.03 gEHEd (<2.1) gEHEd (<2.7) EHEd (<2.7)
2714 |2 X B4 ESX m@Eisk R3.12.03 e d (<1.9) e d (£2.0) e d (<2.7)
275 _|2X BE | BAIX 58 R3.12.06 BT (<2.4) BREET (<2.0) BHET (<16.7)
216 [ X B4 FRX 58 R3.12. 06 BHEd (£2.9) BHEd (<3.0) BHEd (<34.3)
27171 |2 X B4 FEX 58 R3.12. 06 FRHEd (<1.7) T (<1.4) T (<34.0)
278 |2X BE | B &8 R3.12.06 ZHET (<1.6) BT (<1.4) BT (<11.3)
219 |2X BE | BETX A& R3. 12. 06 BRBET (<2.2) BRIEET (<2.3) BEET (<11.9)
280 [¥94 % Fith [RETX KR R3.11. 01 FEHEd (<2.1) FEHEd (<2.1) e d (<6.7)
281 | X B4 [RETX K& R3.12. 06 e d (£2.0) e d (<2.1) g (<£9.5)
282 |2X BE | BEIK AAE R3.12.09 BEET (<2.0) BRET (<2.8) BHET (<14.4)
283 |HD FZith [RETX % R3.12.09 BHEd (£2.2) BHEd (<2.7) BHed (£2.5)
284 |y & ih [FETX #£ R3.12.09 T (<2.8) T (<3.1) BmEed (3.1
285 |2X B5E | REK @2 R3.12.09 ZHET (<2.3) SHET (<2.5) BHET (<19.9)
286 [ X B4 [RETX #FE R3.12.09 BEEY (2.7 BEEY (2.9 BHEd (<£20.8)
28] |v—av FZith FERX & R3.12. 04 T (<2.8) 9 (<3.0) RHEY (<3.1)
288 [2 X B4 ESX IUT R3.12.09 EHEd (<2.2) EHEd (<2.0) EHEd (<2.4)
289 |2X BE | BEX T R3.12.09 BEET (<1.0) BREET (<2.0) BHES (<3.5)
290 [ X B4 EBSX IUTF R3.12.09 gEHeEd (<2.1) gEHEd (<1.9) EHEd (<2.6)
291 |2 X B4 ESX FH R3.12.09 EHEd (<2.3) T (<2.8) e d (£2.8)
297 |2X BE | BEIK 2 R3.12.10 ST (<11 ST (<21 BHET (<10.3)
293 [ X B4 [RETR KR R3.12.10 BEEY (L2.5) BEEY (L2.3) BHed (<14.7)




AIERER (Ba/ke)

No REYA REFE 238 T REE Io%—131 i L—134 > L—13]7
AEME (RHERF) AEME (RHERF) AEME (RHERF)

294 [ X B4E FETX KR R3.12.10 BEEd (<17 BEEd (<1.4) BEEd (<1.9)
295 [ARF ¥ =ih BEX JIF R3.12.10 BEEd (<2.4) BEEd (<2.8) BEEd (8.1
296 (TR =ih BSX JIF R3.12.10 RHtEd (<3.5) Y (<3.2) RHtEd (<3.9)
297 [ hAE =it BSX JIF R3.12.10 RHEd (<3.1) RHEd (<3.4) RHEd (<2.5)
298 | HYRAE = ih BEX JIF R3.12.10 BEEd (<2.8) BEEd (<8.2) B9 (<8.3)
299 |FHAE =ih BEEX JIF R3.12.10 ‘retEd (<7D ‘mttd (<8.9) BHEY (<8.5)
300 |2 X B&E BSX JIF R3.12.10 RHEd (<2.2) RHtEd (<2.9) 9 (<3.3)
301 |T3% B ih BEX JIF R3.12.10 RHEd (<5.9) Y (<5.0) RHEY (<6.6)
302 [ X B4E BEEX BER R3.12.10 BRHEY (K2.7) BRHEY (<8.3) BRHEY (<5.4)
303 [ hAE =ih BEESX mER R3.12.10 RHtEd (<2.4) RHtEd (<2.7) Y (<2.8)
304 |HT il EESX JKH R3.12.10 RHEd (<3.6) RHEd (<2.9) e (<3.8)
305 |LAR = ih BSX T R3.12.10 BEEd (<2.6) BEEd (<8.2) BEEd (<8.5)
306 [ hAE =ih BESX T R3.12.10 ‘mHtd (<2.5) ‘mEeEd (<81 ‘rEtEd (<2.7)
307 [(AUD5T— =i ESX T R3.12.10 Y (<2.0) s (<1.9) T (<2.2)
308 [ hAE =i BEX T R3.12.10 R (<2.4) B9 (<3.5) T (<3.8)
309 |FIOATIL—Y B4E BEEX 1Hi R3.12. 16 BRHEY (£2.2) BRHEY (£2.2) BRHEY (<£2.8)
310 |2 X B4E EESX /MUH R3.12.16 Y (<2.1) RHtEd (<1.6) RHtEd (<5.1)
3M_[= X+ il [RETX RE R3.12.16 RHEd (<2.9) RHEd (<2.9) RHEY (<2.8)
312 [ X B4E FEX & R3.12. 16 BrEtEd (<17 BEtEd (<1.6) B9 (<6.2)
313 |2 X B4E EEX & R3.12.16 ‘rttd (<1.8) BrEtEd (<2.1) Bmttd (<6.4)
314 | h3F g&ih REX & R3.12.16 T (<8.2) T (<8.2) R (<4.6)
315 [ X B4E BEX tiEE R3.12.16 RHEEd (<1.9) RHEEd (<2.2) REEd (<6.7)
316 [ X B4E BEX tiEE R3.12.16 BRHEY (<2.9) BRHEY (<3.0) BRHEY (<8.1)
317 |2 X B&E BEEX tiEE R3.12.16 Rt (<4.2) g (<5.6) g (<5.6)
318 [ X B4E BEX tiEE R3.12.16 RHEd (<2.9) RHEd (<2.8) RHEd (<5.2)
319 [ X B4E BEX tiEE R3.12. 16 BEEd (<2.5) BrEEd (<2.9) BEEd (<4.6)
320 |2 X B4E BEEX tigE R3. 12. 06 ‘s (<2.4) BrEtEd (<2.9) BrEtEd (<44
321 [ X B4E BEX tigE R3.12.16 R (<2.4) BT (<2.9) Y (<3.3)
322 |2A4H54 F=ih BESX tHH R3.12.16 BT (<2.9) R (<3.4) REEd (<3.0)
323 |9% =ih BEX JIF R3.12.17 Bmtitd (<6.5) Bmttd (<6.9) BrEtd (<7.4)
324 [v—a > F=ih [RETX & /7 I R3.12.17 RHtEd (<1.7) RHtEd (<1.9) RHEY (<2.3)
326 [av=¥H4%E il [RETX & /7 I R3.12.17 RHEd (<2.0) RHEd (<17 RHEY (<2.2)
326 | hAE =ih [RETX & /7 I R3.12.17 B9 (<38.3) BEEd (<3.4) BEEd (<41
321 |¥U4E =ih [RETX & /7 I R3.12.17 BrEtd (<38.0) BmEtd (<38.9) ‘s (<6.1)
328 [Foo ¥4 g&ith [RETX & /7 I R3.12.17 BT (<2.3) Y (<2.5) R (<2.2)
329 |WRHEEALHA F=ih JRETX & /7 U5 R3.12.17 REEd (<1.8) BT (<2.2) R (<2.2)
330 |2X B4E JRET R [e /7 I R3.12.17 BrEtEd (<2.1) BrEEd (<2.2) BrEtd (<8.9)
331 |2 X B4E BESX KiE R3.12.17 g9 (<1.5) Y (<1.9) 9 (<6.4)
332 [ X B4E BEEX MK R3.12.17 RHEEd (<1.6) REEd (<1.7) REEd (<2.1)
333 [ X B4E BEX LER R3.12.17 BrEtEd (<1.8) BEEd (<2.3) BrEEd (<2.4)
334 |2 X B4E BESX tER R3.12.17 RHtEd (<1.6) RHtEd (<1.8) Y (<1.7)
33 |[FHAE il BEX XK R3.12. 20 RHEEd (<7.0) T (<7.9) Y (<1.7)
336 |Svhatd F=ih BEEX XA R3.12. 20 Y (<7.9) RHEd (<8.8) T (<9.4)
337 |2 X B4E BEX JIF R3.12.23 BrEtEd (<2.7) BrEtd (<2.5) BrEtEd (<40
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338 [FoH B4 gEih BEX /Mt R3.12. 23 BHed (3.0 BmHed (3.1 BmHed (<3.6)
339 |P9HES i BERX /it R3.12.23 BHEd (L2.7) BHEd (£2.5) BHEd (3.0
340 [ X B4% BEEX FH R3.12.23 EHEd (<2.8) gEHEd (<3.1) EHEd (<6.5)
341 | AT i EEX XK R3.12.24 e d (<2.5) e d (<2.9) e d (£2.9)
342 |\ 2Hh+ FEih BEESRX 5% R3.12.24 BHed (L2.6) BHed (3.1 BHed (<3.4)
X () AE. RERRECTHY. REET) FREBRERBERLET.,




